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9 clocks

sched_urgent
j6
p6
c6
c5
c7
p2
c2

delay

2 parameters

P2_uncertain
D

Initial

25*P2_uncertain >= 999 
 & P2_uncertain >= p2 

 & D >= 0 
 & p6 >= 0 

 & 100 >= p6 
 & p2 + 28 >= P2_uncertain 
 & 1001 >= 25*P2_uncertain 

 & sched_urgent = 0 
 & j6 = 0 
 & c6 = 0 
 & c5 = 0 
 & c7 = 0 
 & c2 = 0 

 & delay = 0

T6

T6_idle 100 >= p6

T6_jitter_pre 20 >= j6

 p6 = 100
p6 := 0
j6 := 0

delay := 0

T6_jitter_post 0 >= c6

 20 >= j6
T6_arr
c6 := 0

T6_seg1_susp
100 >= p6

stop c6

 c6 = 0
T6_start
c6 := 0

 p6 = 100
miss_event

p6 := 0

T6_seg1_exec 4 >= c6

T6_dis

 p6 >= 100
miss_event

p6 := 0

T6_pre

T6_hole_pre 0 >= c6

 c6 >= 4
T5_act
c6 := 0

T6_hole True

 c6 = 0
T6_end

T6_hole_post 0 >= c6

T6_act
c6 := 0

T6_seg2_susp
100 >= p6

stop c6

 c6 = 0
T6_arr
c6 := 0

 p6 = 100
miss_event

p6 := 0

T6_seg2_exec 10 >= c6

T6_dis

 p6 >= 100
miss_event

p6 := 0

T6_pre

T6_seg3_exec 5 >= c6

 c6 >= 9
T7_act
c6 := 0

 c6 >= 4
T6_end
c6 := 0

 p6 >= 100
miss_event

p6 := 0

T6_seg3_susp
100 >= p6

stop c6

T6_pre

 p6 = 100
miss_event

p6 := 0

T6_dis

T5

T5_idle True

T5_starting 0 >= c5

T5_act
c5 := 0

T5_susp
True

stop c5

 c5 = 0
T5_arr

T5_exec 7 >= c5

T5_dis T5_pre

T5_ending 0 >= c5

 c5 >= 4
T5_end
c5 := 0

 c5 = 0
T6_act

T7

T7_idle True

T7_starting 0 >= c7

T7_act
c7 := 0

T7_susp
True

stop c7

 c7 = 0
T7_arr
c7 := 0

T7_exec 14 >= c7

T7_dis T7_pre

T7_ending 0 >= c7

 c7 > 11
T7_finish
c7 := 0

 c7 = 0
T7_end

T2

T2_idle P2_uncertain >= p2

T2_susp
True

stop c2

 P2_uncertain = p2
T2_arr
p2 := 0
c2 := 0

T2_exec 17 >= c2

T2_dis

 c2 >= 17
T2_end

Observer

Obs_idle True

Obs_start True

T6_start

Obs_miss True

miss_event

Obs_stop True

 D = delay
T7_finish

sched_sched

sched_loc_ True

sched_loc_AT2 0 >= sched_urgent

T2_arr
sched_urgent := 0

sched_loc_AT6 0 >= sched_urgent

T6_arr
sched_urgent := 0

sched_loc_AT5 0 >= sched_urgent

T5_arr
sched_urgent := 0

sched_loc_AT7 0 >= sched_urgent

T7_arr
sched_urgent := 0

sched_loc_RT2 True

 sched_urgent = 0
T2_dis

sched_loc_RT6 True

 sched_urgent = 0
T6_dis

sched_loc_RT5 True

 sched_urgent = 0
T5_dis

sched_loc_RT7 True

 sched_urgent = 0
T7_dis

sched_loc_RT2WT7 True

T7_arr
sched_urgent := 0

sched_loc_RT2WT5 True

T5_arr
sched_urgent := 0

sched_loc_RT2WT6 True

T6_arr
sched_urgent := 0

sched_loc_ET2 0 >= sched_urgent

T2_end
sched_urgent := 0

sched_loc_RT6WT7 True

T7_arr
sched_urgent := 0

sched_loc_RT6WT5 True

T5_arr
sched_urgent := 0

sched_loc_AT2RT6 0 >= sched_urgent

T2_arr
sched_urgent := 0

sched_loc_ET6 0 >= sched_urgent

T6_end
sched_urgent := 0

sched_loc_RT5WT7 True

T7_arr
sched_urgent := 0

sched_loc_AT2RT5 0 >= sched_urgent

T2_arr
sched_urgent := 0

sched_loc_AT6RT5 0 >= sched_urgent

T6_arr
sched_urgent := 0

sched_loc_ET5 0 >= sched_urgent

T5_end
sched_urgent := 0

sched_loc_AT2RT7 0 >= sched_urgent

T2_arr
sched_urgent := 0

sched_loc_AT6RT7 0 >= sched_urgent

T6_arr
sched_urgent := 0

sched_loc_AT5RT7 0 >= sched_urgent

T5_arr
sched_urgent := 0

sched_loc_ET7 0 >= sched_urgent

T7_end
sched_urgent := 0

sched_loc_AT2WT7 0 >= sched_urgent

 sched_urgent = 0
T7_pre

sched_loc_AT6WT7 0 >= sched_urgent

 sched_urgent = 0
T7_pre

sched_loc_AT5WT7 0 >= sched_urgent

 sched_urgent = 0
T7_pre

 sched_urgent = 0

 sched_urgent = 0
T2_dis

sched_loc_RT2WT5WT7 True

T5_arr
sched_urgent := 0

sched_loc_RT2WT6WT7 True

T6_arr
sched_urgent := 0

sched_loc_ET2WT7 0 >= sched_urgent

T2_end
sched_urgent := 0

 sched_urgent = 0
T6_dis

sched_loc_RT6WT5WT7 True

T5_arr
sched_urgent := 0

sched_loc_AT2RT6WT7 0 >= sched_urgent

T2_arr
sched_urgent := 0

sched_loc_ET6WT7 0 >= sched_urgent

T6_end
sched_urgent := 0

 sched_urgent = 0
T5_dis

sched_loc_AT2RT5WT7 0 >= sched_urgent

T2_arr
sched_urgent := 0

sched_loc_AT6RT5WT7 0 >= sched_urgent

T6_arr
sched_urgent := 0

sched_loc_ET5WT7 0 >= sched_urgent

T5_end
sched_urgent := 0

sched_loc_AT2WT5 0 >= sched_urgent

 sched_urgent = 0
T5_pre

sched_loc_AT6WT5 0 >= sched_urgent

 sched_urgent = 0
T5_pre

 sched_urgent = 0

 sched_urgent = 0
T2_dis

T7_arr
sched_urgent := 0

sched_loc_RT2WT6WT5 True

T6_arr
sched_urgent := 0

sched_loc_ET2WT5 0 >= sched_urgent

T2_end
sched_urgent := 0

 sched_urgent = 0
T6_dis

T7_arr
sched_urgent := 0

sched_loc_AT2RT6WT5 0 >= sched_urgent

T2_arr
sched_urgent := 0

sched_loc_ET6WT5 0 >= sched_urgent

T6_end
sched_urgent := 0

sched_loc_AT2WT5WT7 0 >= sched_urgent

 sched_urgent = 0
T5_pre

sched_loc_AT6WT5WT7 0 >= sched_urgent

 sched_urgent = 0
T5_pre

 sched_urgent = 0
T7_dis

 sched_urgent = 0
T2_dis

sched_loc_RT2WT6WT5WT7 True

T6_arr
sched_urgent := 0

sched_loc_ET2WT5WT7 0 >= sched_urgent

T2_end
sched_urgent := 0

 sched_urgent = 0
T6_dis

sched_loc_AT2RT6WT5WT7 0 >= sched_urgent

T2_arr
sched_urgent := 0

sched_loc_ET6WT5WT7 0 >= sched_urgent

T6_end
sched_urgent := 0

sched_loc_AT2WT6 0 >= sched_urgent

 sched_urgent = 0
T6_pre

 sched_urgent = 0

 sched_urgent = 0
T2_dis

T7_arr
sched_urgent := 0

T5_arr
sched_urgent := 0

sched_loc_ET2WT6 0 >= sched_urgent

T2_end
sched_urgent := 0

sched_loc_AT2WT6WT7 0 >= sched_urgent

 sched_urgent = 0
T6_pre

 sched_urgent = 0
T7_dis

 sched_urgent = 0
T2_dis

T5_arr
sched_urgent := 0

sched_loc_ET2WT6WT7 0 >= sched_urgent

T2_end
sched_urgent := 0

sched_loc_AT2WT6WT5 0 >= sched_urgent

 sched_urgent = 0
T6_pre

 sched_urgent = 0
T5_dis

 sched_urgent = 0
T2_dis

T7_arr
sched_urgent := 0

sched_loc_ET2WT6WT5 0 >= sched_urgent

T2_end
sched_urgent := 0

sched_loc_AT2WT6WT5WT7 0 >= sched_urgent

 sched_urgent = 0
T6_pre

 sched_urgent = 0
T5_dis

 sched_urgent = 0
T2_dis

sched_loc_ET2WT6WT5WT7 0 >= sched_urgent

T2_end
sched_urgent := 0

 sched_urgent = 0

 sched_urgent = 0
T7_dis

 sched_urgent = 0
T5_dis

 sched_urgent = 0
T5_dis

 sched_urgent = 0
T6_dis

 sched_urgent = 0
T6_dis

 sched_urgent = 0
T6_dis

 sched_urgent = 0
T6_dis

sched_loc_stop True


